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Finding the LCM of 3 (or more) Values:

There are three methods to solve these kinds of problems. You may use any of
these methods to solve:

EXAMPLE #1: Find the LCM of 4, 10, and 30.

1. The Ladder:

' . § "
I°ghe 4 [ ~5d
p e 14 Do
Q ] P -~ 3 A AL 29 » T ] =
PA | 4 73 < (LR I~
1 2 <] i F i ot o) =SV - P
) ~ 2 0 20
y Al Rl AY U
3 30
1) + ¥
JYU Ay

3. Reasoning & Hybrid:

I know every multiple of 30 is also a multiple of 10 so I will solve
for the LCM of 4 and 30 only:

The Ladder: Multiple Strings:
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5 | You Got This:

Find the LCM of:

1. 4, 6, and 10 2.6, 8 and 12



